McKenzie River Broadcasting Co Inc 925 Country Club Rd Ste 200 Eugene, OR 97401 541-484-9400

Client:

FRIENDS OF MARK HERBERT

Order #: Description 4192-00006 **HERBERT HD 11**

Date Entered: P.O.#:

Chapman, Tracey

10/24/2018

Invoice Frequency. Billed at end of Media/EOS, Sorted by Date

Phone/Fax:

Salesperson

503-763-0400

NEW MEDIA NW 1495 COMMERCIAL NE SALEM, OR 97301

On-Air Schedule

5	Start Date	End Date	Station	Scheduled	Time/Event	Repeated	Length	Qty	Rate	<u>Totai</u>	\underline{M}	<u>Tu</u>	W	<u>Th</u>	<u>F</u>	<u>Sa</u>	<u>Su</u>	<u>Wk</u>
1	10/29/2018	10/31/2018	KKNU-FM	06:00:00a	to 10:00:00a	Weekly	:30	3	54.00	162.00	Х	Χ	Х					3
2	10/29/2018	10/31/2018	KKNU-FM	10:00:00a	to 03:00:00p	Week!y	:30	6	45.00	270.00	х	Х	Х					6
3	10/29/2018	10/31/2018	KKNU-FM	03:00:00p	to 07:00:00p	Week!y	:30	6	40.00	240.00	Х	Х	Х					6
4	10/27/2018	10/28/2018	KKNU-FM	06:00:00a	to 08:00:00p	Weekly	:30	5	17.00	85.00	0	0	0	0	0	5	0	
5	10/27/2018	10/28/2018	KKNU-FM	06:00:00a	to 08:00:00p	Weekly	:30	5	15.00	75.00	0	С	0	0	0	0	5	

Total Charges:

\$832.00

Combined Discounts:

\$124.80

\$707.20

McKenzie River Broadcasting Co Inc. does not discriminate on the basis of race ethnicity, gender or national origin in any of its advertising practices Any order or advertising content that wouldresult in any such discrimination willnot be accepted

Projected Med	ia Month/End-Of-S	Schedule Billing Totals for	FRIENDS OF MAR	K HERBERT / 4192-00	0006 :
		Spot Count	Gross Billing	Combined Disc.	<u>Net Billin</u>
October	2018	10	\$160.00	\$24.00	\$136.00
November	2018	15	\$672.00	\$100.80	\$571.20

Confirmed & Accepted for McKenzie River Broadcasting Co Inc. By:

Accepted for NEW MEDIA NW By:

SALES ORDER FORM

AC AC CI ZII	OVEI SENO DRI TY: C:	CY NA ESS: 	R NAME:		PHONE	X KKNU# X KEUG# KEQB# REP NAME: TRACEY SALES						DODOS DOGOG DOGOG ES TYPE LA LITICAL X									
PO/REF#: HERBERT HD 11										PR	ODU	CT:			04-						
	•	Name:						_											or EOS		
	-	Name:		. —															or EOS		
Co	op l	Name:															Weekly				
										NOTE	· micic	i ta/e	:EV				EO		DON'T	FOLICH TI	
					l					SPOTS		KAAE		D 114					DON'T TOUCH THE		
H		SPOT	FLIGHT		MILITAR			PRIO RITY		WKS	ROT			DAYS	And the last		. 8				
S	N	RATE	FROM	THRU	FROM	то 1000	LTH 30		IN	OUT	SPTS	X	X	×	T	F	. 0	SU	SPOT 3	\$ \$57	
1		\$19 \$19	10/29 10/29	10/31 10/31	600 1000	1500	30				6	X	x	X					6	\$114	
1		\$17	10/29	10/31	1500	1900	30				6	X	x	X				┞╼┤	6	\$102	
1		\$6	10/29	10/31	600	2000	30				5	^	 ^	A			х		5	\$30	
<u> </u>		\$5	10/27	10/28	600	2000	30				5						^	Х	5	\$25	
├		ຈົວ	10/2/	10/20	000	2000	30												0	\$0	
┝								-					\vdash						0	\$0	
4		\$19	10/29	10/31	600	1000	30				3	X	X	X					3	\$57	
4		\$19	10/29	10/31	1000	1500	30				6	X	X	X				\vdash	6	\$114	
4		\$19	10/29	10/31	1500	1900	30		-		6	X	X	X				\vdash	6	\$114	
4		\$6	10/27	10/28	600	2000	30				5						х		5	\$30	
4		\$5	10/27	10/28	600	2000	30				5							x	5	\$25	
		*	10/21	10120		2000								Ŋĸ						7-5	
									-	_		,		7							
3		\$54	10/29	10/31	600	1000	30				3	X	X	Х		32		\Box	3	\$162	
3		\$45	10/29	10/31	1000	1500	30					X		X		77			6	\$270	
3		\$40	10/29	10/31	1500	1900	30	\neg			6	X		X					6	\$240	
3		\$17	10/27	10/28	600	2000	30				5			4			х		5	\$85	
3		\$15	10/27	10/28	600	2000	30				5					36.9 10.1		х	5	\$75	
																			0	\$0	
																			0	\$0	
																			0	\$0	
																U.,			0	\$0	
														1		ĽĐ.			0	\$0	
																Ë			0	\$0	
													ORI	DER	тот	ALS			75	\$1,500	

AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

FEDER	RAL CANDID	ATE	⊠ sī	ATE/LOCAL	CANDIDATE
iro AV Wincio	alla i tempej v Vra Jaddaj es		es int Hsbirt	Charge Durk he Certificati	g a Political on On Page 3
Station and KMレビュ(d Location: KNU, KE	ub Euge	a,		ate: 10 · 24 · 10
Ĭ,	<u> </u>	Adams e	New 1	redia NW -	
being/on behalf	of:	riends of	Mark	Herbert	, a legally
qualified candid	ate of the	Repub	lican		political
party for the offi	ice of:(State Re	ρ		
in the	(icharal Elec	tion		
election to be he	eld on:	Nov. 6	2018		
do hereby reque	est station time as	follows:			
Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times p Week	\$P\$4、25、20、20、20、20、20、20、20、20、20、20、20、20、20、
	5el	Stached			
22					
	w. Art merkenski vir sederate		21 - 1 42 11 12 12 12 12 12 12 12 12 12 12 12 12		
Total Charg	les.				

For programming that, in whole or in part, "communicates a message relating to any political matter of national importance," list the matters below:
,
I represent that the payment for the above described broadcast time has been furnished by:
Friends of Mark Herbert
and you are authorized to announce the time as paid for by such person or entity. I represent that this person or entity is either a legally qualified candidate or an authorized committee/organization of the legally qualified candidate.
The name of the treasurer of the candidate's authorized committee is:
Vori Piarav
This station has disclosed to me its political advertising policies, including: applicable classes and rates; and discount, promotional and other sales practices (not applicable to federal candidates).
To Be Signed By Candidate or Authorized Committee
10-24-20 3 AC a Common Signature Date Signature Signature
To Be Signed By Station Representative
Accepted Accepted in Part Rejected
Signature Printed Name 10/24/8

Ι,		
	e of federal candidate or authorized committee) hereby certi- broadcast (in whole or in part) pursuant to this agreement:	fy that the programming
	☐ does	
	to an opposing candidate (check applicable box). I further cramming that does refer to an opposing candidate:	ertify that for the
(chec	ek applicable box)	
À	the radio programming contains a personal audio statement identifies the candidate, the office being sought, and that the approved the broadcast.	
	the television programming contains a clearly identifiable primage of the candidate for a duration of at least four second displayed printed statement identifying the candidate, that if the broadcast, and that the candidate and/or the candidate's paid for the broadcast.	s, and a simultaneously he candidate approved
	Signature of candidate or authorized committee	
	VIII C. Adams	10.24-2018
	printed name	date